0TAY WN 10 A 1 TNy ,nm M0N0 19N 044262

1 52 Y990
1 ANV

Vout=f(Vin)

W1 11200, Vout=f(Vin) 79710 v 955 9N M2y

™ VIL, VIH, VOL, : 1555 n»nd mna DIWaNND ONX
NN DMONOUON WY ONY NHapy ny»apn ,VOH
'VOL = f(VIH) ,VOH = f(VIL): »a5 1y

Voh

: Vor ) Vo 5S¢ MITHIND NN PO

Vout

2>57 NNINI YNNI OMWYN DXNNNN DIND - VOL
AN 07 -5 INMD TUND

Vol 297 MO YA DMWYN DNIBN OINN - oA

ONY 1 =D o quUND

vil Vin Vih

925 ©P) Vi, 1)V, Rap INND NYTINN 292 120

SN MXID WWIN,OONDOPN NM 52p5 > 15 N8N
YN MWYVY DXNNNN DINN (N /0’ I12I52) V), -5 MY 0P NNN 2559 DY INDIDL WD IWUND N

V)5 e nrnd arn V), 71NN 292395 .00 71) noymy f(V,,) DN NN
YN DMVUYY DNNNN DIND (N5 '] IMD) Vi, -5 MY 21T NNN 2259 SY INDID1 W IWND .2
V) -0 e nrnd a»n V,, 11NN 292395 .00 10 nom f(V,,) D»n nNodda

:92PNN 927 OV 19D 1N
NM = min {VOH VsV — VOL}

VOH = f(V1L) ;VOL = f(VIH)
NM :min{f(V1L)_VIH;f(Vm)_VOL}




UTNRY W 10 NN 2 TNy ,N"M M0N0 1 10N 044262
2 NYNVY

Vout NM =min{V,, —V,,;V, =V, } :mminn b
970 Y MTIPI XNV NN PNM

AV, V,)=(15,0.5
22PNN RNONN 290 19H 1 ( 8 OL) ( )

Y1=2.5(Vin)-15/4 A, : (VIH Vou ) = (3.5’5)
/ M 7y N . NM = min {5—3.5;1.5—0.5} =1

NN DTN IV WYIN MW NN DITHIND MTIPIN DY
NV, -V, »Mvwadrnm.V, -V, vV, -V,

: NM, -nyop NM,

0.5 —\

|
0 15 35 5 Vin

Y, DRIwnnoad Ny A PN IRV ON .1
-¥ NN 290 Hap)
V, =L7[volt]-5 1y V,, nx9mnb qwane mao o V, =V, =V, —max{0.5 ; (2.5-V, —3.75)}
PNV, =05-v NM mymnsad nsv vV, =1.7 [volt] TN .V, =V, DTN nX popno ]
.NM, =V, -V, =17-05=1.2

NPV, =V, Smanpoyynap aww» V,, - op V,, (V, =0.75 1) noNnw A /PN IR DD ON .2
.NM, NN 5T N7 9195
2
PNV, ) = —;Vm +0.5 :7n NIRNDN NXNWHN) NN (0.75,0) nMpInn Snn

v, -V, =V, —max {0.5; (—%V,L +0.5j} =1.5-05=1 VvV, €[0,0.75]

NM, NN T N7 9195

1N YONDIOPNN WYIN VY YN (2-) 1 ©9YD 297) NM, NN TN NNISN KOV )NON

V.,V..)=(1.7,0.5
VYo ) =(L7.05) iy 5ammm min {NM,; NM, } = min {1.2;1.5} =1.2

(Vi -Vor ) =(3.5,5)




0TAY WN 10 9NN 3 TNY ,NM M0N0 1D 19N 044262

MM74C04 —~ 3 noNY
>0‘ T =25C : DM
Vee=10V
] A > N=2? NLNOY NIVN
MM74C00 ° .Cin =50pF oy o»yw >y oonyimn NOT-n »yvy
' °
MILVP PN NN NIIWHN NONYIY : MYIT
.140ns-n
_/
MM74C04 W Y2 MYITIN
Propagation Delay Time vs !y (system) = & pavmracoo) T pacmmracos < 140[118]
Load Capacitan:e
MM54C00/MM74C00, U
MM54C02/MM74C02,
MM54C04/MM7 4C04 trasandy (Cin = Cror “ W+t g xor (C,, = 50[ pF]) <140 ns]
" O A % 2
i —— = A —
g Voc = 30V 17 ‘gf;cﬁ: iy ! pavwizacon) Hpacnmzacosy < 140ns w17
= 100 7 - | !n. L4 55 02 NNY NOT-n mMyw Sy mnwnm 197 DN 192000 XOMN)
= / i, .50pF 5w 912599 ThN
£ -1
= Vee = 10V
= s — :I;i-T“T—F' tpaomracos) = 3078
= p L=
AN T T Ve = 18V U
+ womrscon+ 30ns < 140ns
1] H &0 100 150
CL - LDAD CAPACITANCE IpF) ! anmracony < 110ms
TU/'F/EET? 7
-1 WY DY R¥INA (PHNNDIOPNN) D1PN DT DX NDAVNN XON)
:1,, =110[ns] Yw o nwn 1t 3P NAND
.70 (V. =10[Volr]) oxnmnn awn nxnen
t,,=03-C,+14
U
10(z,, ... —14) 10(110—14
in—max = ( . ) S ( ) = 320[pF]
3 3

Rua)Vl F—éo J = L53.33J =53 wn NOT-n v 0yopn 6 pF 1w NOT qyw 55 Hv 5 120pnw 1n1ron




0TAY WN 10 9N 4 TNY ,NM '9M0aN 1D 19N 044262

2 %2 YN
1 ANV

NN JIT NIY PPN IDIND DY NOWNRNY WO DY FE2 R 0>1pn FF1 9m95 skew > 0 -v 1) mMYUKI
SN PIPY FF25v 1, nNY FFL 5w 1, DR YWy D»pn o »on 1,

ouT
o CLV i ri [ CL2 [ FR2 -
IN1 § |
Inz|
clk |
Learrry) Tlea(cr) > Uhota(rr2) T skew
tpd(FFz) + tpd(CLl) + ts.u.(FFl) < Tmax — skew
) U

skew <T,. — (tpd(FFZ) tloaey ts.u.(FFl))
U

cd(CL2) —1

4 +1

) cd(FF1) hold(FF2) ’
skew < min
Tmax - (tpd(FFZ) + tpd(CLl) + ts.u.(FFl) )

VYT YT IONA PO FFT AN O Tpn FE2 - 9m00 skew <0 -w no) nyd




10 NN 5 TNy ,N"M M0N0 10 10N 044262

VTRV WN
tcd(FF2) +[cd(CLl) =z thold(FFl) + |Skew|
Lpa(rry Fpaccra) Flou(rra) S T —|skew|
J U
|skew| < tcd(FFZ) + tcd(CLl) _thold(FFl)
[skew| < T, _([ pa(re1) T pa(cra) T ts,u,(FFZ))
' tcd(FFZ) +tcd(CL1) _thold(FFl);
|skew| < min
T, _(tpd(FFl) + tpd(CLZ) +[s.u.(FF2))
2 ANV
0
g B [
ING L= — — ) —:__>—|_,_ .
_;J'. > > |_ ) D DOFF Qf ;: > _,r’H . D"_L 0.FF 4] B1
.""'. ."h":l
| ! B0
CLR i
Q=B OQ,=5
D, =(INC®Q,)-CLR H(MINNN2ONDWYPW) FF1 FF2 o) N
D, =[INC-Q,+INC-(Q,®Q,)]-CLR
PS NS
inc\clr = 00' inc\clr = 01' inc\clr = 11 inc\clr = 10
Q1 Q2 B1 BO D1 D2 B1 BO D1 D2 B1 BO D1 D2 B1 BO D1 D2
0 0 00 00 00 00 00 00 00 10
0 1 10 01 10 00 10 00 10 11
1 1 11 11 11 00 11 00 11 00
1 0 01 10 01 00 01 00 01 01




0TAY WN 10 A 6 TINY ,NM M0N0 ;19 19N 044262

A 3315 nynn Awn CLR .1 nps mngim 100w X9 0nynY X9 375 .9N0WN 051800 NNHINT N9IPRD
TPV X0 70N IR TINOXIN)
IYNRI) NINDNN NDION 591D KD DX-/1/-N NN DY NPV NRINON MDD 3 Ty 0-1 D=1 NIMD DY N NN

4T (LSB -n 8N b,
ANC 13 no»ay qup 01w %52 11990n Nk nann Y 11-1 19ye) CLR - oo




0TAY WN 10 JINA 7 TNy ,Nm M0N0 19N 044262

O, = D, -n 5750100 75 My (Mnnnn) O, — D, N InNra PIRNDWonn A

Toin = Lya(xory T 2 pa(ann)  La(or) T Lpa(rra) T Laurray = 10008
Tin = oa(xor) T 2 Lpa(ann) T Tpa(ory T Lpa(rrny T Lu(rra) = 100ns

U
1 1 9
= =0.01-10"[ Hz] =10[ MHZ]

F = =
™ T 100-107[sec]

min

L0107V DN DININD DPPNNY DIIINY NINID I DY NN NNNANIND - )

Tmin
A
4 N
A A
Lol t
hold f T8I NN
: d(CL)
- ! " ooy
Led(cr ™Mo”ON

NP ISPN DN Y93 DY 50NN NN 1, d(cry TN

NP TIRD PNVNN YOI DY NTODN VI 1 ) 7

Lpa(vesrr2) = Lpavor) T 2‘tpd(AND) 1 y0r) = 55ns
L(rr) = Sns

tcd(CLR—»FFl\FFZ) = tcd(NOT) +tcd(AND) =3ns

Uhoa(Fr) = 4ns

1ns 7NN 59591 NYY NMHY 195 607s NINAN YD NNNVND 11 MDNDN DY MYIITNIV YN DMNMNN
[ o Flns T, = 60ns] INIVINI NI YW MDY IINK

: 09199992 P NON (NS) MDD MPY NMDN XY MINONOAY PPN

t =t =30ns

pd(out) pd(FFl\FFZ)

Lea(our) = Lea(rr1veFa) = Tns
YV NMOY YN

(MDD FF2 50 ¢, ,, -NONN O”PNNo PIN FF2 nno1pn FFlw»an 1

4 Hoacrio,) = Thota(rr2) T ¥skew)

U v
t(xkew) <9ns

:OOPNNY PAN PITY A PYOIIMND .0
=100ns;

cd(FF1)

t +2-1

T . =max

min

pd(XOR) pa(ann) T Lpa(or) T pa(rra) T Lau(rr)

 pa(xor) 2. pa(anp) T Lpa(or) F Lpa(rrny T au(rra) ~ skew =100ns — skew

100ns wws P2 22 si50mn ISP TAN 91900Y MY 199




0TAY WN 10 9N 8 TNV ,N"M *>M0N 1D 19N 044262

;0PN VNN 72 FF2 AR PONMORY MRV OP )

pa(xor) + 21 pa(anp) T L pa(ory T pa(er-new) Tl =90ns;

+ txu(FFZ)

FF2)
T . =max

min

t +2-t +1 +1t — skew =100ns — skew

pd(XOR) pd(AND)

pd(OR)

pd(FF1)
$PYIY 1O (T 9°y02 2NN 195) 22570 NAONN MIAPYL MNWN KD skew,

t +2-1 1 a0r) T ) = 90085

skew =100ns -9

FF2) - max

pd(XOR) pd(AND) FF-NEW)

T . = max

min

t +2-t

)+ oaor) F Epa(er
U
T, =91ns = F,,,, =10.98[ MHz]
TR PIVIN YR DR, FF2 AN OTPn FFL-w  Prony mMxID 100 DN 9N NN - .3
-2 )WYUN MDY PINN DNPD (ONIPND £, OY) 1, ,, — L., DTNV FF1-21Wwn 0oy 2900 nnpd 78

) + tm(

pd(XOR) pd(AND

.FF?2
Tmin
AN
4 ™
A ‘r
CLK(FFI)
I
CLK(FFl)
TIAX NI IMN
N NNIYH
mMoO0N
Skew
YN
Lpa(vesrra) = Lpanvor) T 21 pa(anp) T Lpa(or) = =55ns
tsu(FF) = SnS
Lea(cLrsrrner2) = Lea(vor) T lea(ann) = 3ns

t =4ns

hold(FF)
, FF2 -2 9w 15y N 1us -y FF1-2 2w n»Yy a5 60ns nNYND XN MDION DY NN

[T( + skew + 1ns; T 60ns] - 5MIVINA DD

: DY9199991 P KON (NS) M52 MY mnbn N MINONNIY NPON

t it =20ns + skew

)= max{skew+t o pd(FFl)}

pd(um NEW)

tcd(um) mm{t J(FF1) ; skew +1 (FFZ)}:7ns

JIYWN D0 YN




0TAY WN 10 3NN 9 TNY ,NM M0N0 19N 044262

3 Mavnan
1 hHNY
RAS1 CASI WEl RAS2 CAS2 WE2
l l i l l i DRAM?2 -5 DRAMI n yTn aynd oy spn 7onnn N
-2 Mpnn nndd N2 DRAM2 -np ypn 2o,
Al=> ki s €42 ap , DRAM2 -5 n2ono DRAMI n nxovp n»nDRAMI
D 2 . DRAMI1-5 n2>n>y DRAM2-n
0l Q2
-2 DRAM,-n n2m2> nm DRAM, -5 DRAM,- n n2>nON
£ T2 N PONNNN O8N D"ND .0MNY NN DRAM,
tRC *
_ VH- —x\ s /,zm—':&
RAS'\ML- 7
tesH
itCHF tRCD tRSH [+ tcRP—
— VIH- + tcas i
CAS,,, _ / \1 V /
tRaD
tRaL !
tRCH
VIH r’_tRCd_‘ AL i
W‘\ML- /
tas —tOFF —
tcac
PICLZ—"|
tRac >
VIH - s A
1 v:i_ OPEN | DATA-OUT-IN )
| |
D, ViR >< DATA-IN
WIL - R
/ 105 je] l—tDH -+

tRC

fRAS | tRP >
VIH - ;l(—\
RAS
2VIL - \ T
topH >
tcRe
|<—-\‘ tRCD - tRSH r_tCHP_'
=5 VIH- / : \ tcas e /
2VIL - \ R 2z
towL
IRWL o

wics|
p—]

o ViH- \ /
v . twp ——

Ltopp YINND 52 99) DRAM | -5 DRAM , -3 2)12) 19IN ININD 190 INND




UTNRY "W 10 NN 10 TNy N M0N0 12 10N 044262
(NN J2D O»NIYI PONN INMN NN YNID TN I7ND 10D

tO.S 2 max {tRAC ’ tRCD + tCAC ’ tRAD + tAA} + tDS B tWCS + tRWL + tRP =
max {tRAC ’ tRCD + tCAC ’ tRAD + tAA} + tDS + tRSH + tRP =

max {50,37 +13,25+ 25} +0—0+13+30 =93ns

“DIAMN PO (RAST -N DT 09D) £, -1 NN D) PNIYNI DNPD TN 7252 NHIYNIN NNOIPIY 27 DOWD TN
(NS D0 D 1
ton =2tys +topp =2:934+5=191ns

min

INPYDO/NNT 2

2 NHNY
npP» DRAM -n 2220 L1, NPD NNV Y MPYUN NI MW m DRAM -av m»  .N
m
np»  DRAM -n 55 ywy oo ', =111, m' =2 MPYN NND Lt =1, M
t' 1.1 m
L =—=0.55 ;o paomm 1, =t m'=1.1-¢, -—
tor 2 2

7 DRAM -0 »un NI IR (1> X >0) mmvw yyna sy X pwoy mn DRAM -n opn o .a

W vwdy DRAM -5 WY MNAN NN IND )00 MY ayia yvin 0.55- X poy
1-0.55-X

= o nmbmn b (1-X) mn»nan i onpnn) (1-0.55- X))

i
. DYPIN DX
¥ = thetime needed to referesh all rows (CBR / RasOnly * 4096r0ws)

B the max time a row doesnt need to be refreshed

0.4ms

64ms

=6.25-107

~1-055-X 1-0.55-6.25-10"

X 1-625.107 =1.003 :532p) N

IN 07 N PO IWNRD ,DM0DMNI0 MTIY MMV IVN NN MIAINIA MO 7Y POmNY ) )
N7V N2IND PYOY TY ON : 10D .1PIUN NNYNND DIRNP IN /1 NN TUNRI) MNYNIN NNYNIN DORNP

-1 Py oowonwn AL,-D AL A LA Ay TPIN DY N2IND YYIY WA LAA) DD

DYYNNY INK NDN NDNI/NNIP DI ,XIIPY DMIVODNIL NNY INNND NYTY 715 Fast page mode
.NADNN MDONN




